Parameter | Best fit Uncertainty Best fit Uncertainty Best fit Uncertainty
value Stat Expt Thbgd Thsig value Stat Expt Thbgd Thsig value Stat Expt Thbgd Thsig
ATLAS+CMS ATLAS CcMs
+0.11 +0.09 +0.02 +0.00 +0.06 +016 +0.14 +0.03 +0.02 +0.07 014 +0.12 +0.03 +0.01 +0.06
Kgz 109 %5 ~0.09 ~0.02 —0.01 Toos_ | 120 7013 —0.14 ~0.03 ~0.02 Toos, | 0997013 —0.12 —0.04 ~0.01 ~0.04
+0.11 £0.09 £0.02 +0.01 +0.06 i 0.13 +0.14 £0.03 +0.01 +0.06 | 0 14 £0.13
—0.11 ~0.09 -002 —0.01 —0.05 —0.15 -0.13 ~0.03 —0.02 —0.05 —0.14 -012
+023 +0.18 +0.10 +0.06 +0.10 +0.26 +021 +0.10 +0.07 +0.09 +045 +0.35
Azg 127 %520 016 ~0.07 —0.05 Toos_ | 107 T2 018 ~0.06 ~006 ~0.07 147 o5 ~028
+020 +0.15 +008 +0.05 +0.08 +0.28 +023 +0.10 +0.09 +0.09 +027 +021
~017 ~0.14 ~004 ~0.07 -0 ~020 ~007 ~005 ~0.07 -023 ~019
+0.30 +021 +013 +0.09 +0.14 +0.34 +0.25 +0.14 +0.12 +0.14 +0.50 +043
Aig 178 Zo27 ~0.20 ~011 —0.09 Tomn | 140 - 024 ~0.15 014 Tooe | 226 To5s ~0.39
+0.28 £0.20 £0.11 +0.14 +0.09 +0.38 +0.28 £0.14 +0.18 +0.11 £0.42 £0.31
—038 ~030 -013 —0.20 —0.05 —054 —039 -022 —0.29 —0.06 —064 —042
+0.10 +0.09 +0.03 +0.03 +0.02 +0.14 +0.13 +0.04 +0.03 +0.02 +018 +011
Awz 088 Zop9 ~008 ~003 —0.02 oo | 092 g5 0.11 ~003 -003 Tom_ | 085
+0.12 +0.11 +0.04 +0.03 +0.02 +0.18 +0.17 +0.04 +0.04 +0.02 +U 1
~0.10 ~0.09 ~003 ~003 ~0.01 ~015 ~0.13 ~0.04 ~004 ~0.02 ~0.14
+0.11 +0.10 +0.03 +0.01 +0.02 +01s +0.15 +0.04 +0.02 +0.02 +0.17
[Ayz] 089 Ty1o 0.09 ~0.02 ~0.02 Zoor_ | 087 Zgi3 —013 ~0.04 —0.01 Too | 091 75d
+013 £0.13 £0.03 +0.01 +0.02 i o.zo +0.20 £0.05 +0.03 +0.02 £0.18
—0.12 —011 -0.02 —0.01 —0.01 —0.17 —0.17 ~003 —0.01 —0.02 ~0.16
+0.13 +0.12 +0.07 +0.01 +0.02 +021 +0.18 +0.10 +0.04 +0.03 +020
[Acz] 085 Ty, 0.10 ~006 —0.02 0.0 0.96 7o 015 ~0.09 ~0.03 —0.02 0~78 .17
+017 +0.14 +0.09 +0.02 +0.02 +0.27 +023 +0.13 +0.04 +0.04 23
~0.15 ~013 ~008 ~002 ~0.02 -023 ~0.19 ~011 ~003 ~0.02 20
+0.16 +0.12 +0.07 +0.07 +0.03 +0.24 +0.20 +0.09 +0.10 +0.04 +0.26
[Asz] 058 T5%0 ~0.17 ~0.06 —0.07 Tooa_ | 061 Tg3) —0.19 —0.12 ~0.10 Tom_ | 04751y
+0.25 £0.21 £0.09 +0.08 +0.06 +0.36 £0.31 £0.12 +011 +0.08 +038
—022 —020 —007 —0.05 —0.05 —029 —026 —0.09 —0.08 —0.05




